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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes

each sentence. Then mark the correct choice on your answer sheet.

1-  What was intended as a peaceful demonstration rapidly into violence.

1) agitated 2) degenerated 3) preceded 4) discriminated
2-  The Democratic Party --———-——--- 70 percent of the vote.

1) garnered 2) esteemed 3) obligated 4) assembled
3- Some animals can -—------- very high temperatures.

1} detach 2) submit 3) obstruct 4) withstand

4-  Researchers have discovered that up to one half of all children born of alcoholics are

genetically -——- to alcoholism.

1} discerned 2} apprehended 3) predisposed 4) impressed
5- Communication via the Internet gives an important ---------- to international trade.

1) dimension 2) exposure 3) expenditure 4) distribution
6-  Lack of childcare facilities can be a major - - for women wishing to work.

1) dispute 2) routine 3) obstacle 4) contraction
7- Itis a common -~ that women are worse drivers than men.

1) essence 2) impetus 3) fallacy 4) amusement
8- The ———=emm- for using this teaching method is to encourage student confidence.

1) advent 2) rationale 3) authenticity 4) constitution
9-  The degree of punishment should be ------—-- to the seriousness of the crime.

1} inclined 2) receptive 3) prominent 4) proportional
10- Low inflation is the key to ---- gconomic growth.

1) sustained 2) congruoLs 3) extravagant 4) well-disposed

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or
(4) best fits each space. Then mark the correct choice on your answer sheet. :

Commonwealth of Nations 18 an international organization composed of independent states,
all of which were part of the British Empire. It was constituted by the Statute of Westminster,
(11) ---------- the British Dominions were recognized as ‘autonomous communities’, (12) -------
the British Crown. Since 1947, when India chose (13) -------—--- within the Commonwealth, it
has consisted of an increasing number of republics, so that the role of the British monarch, who
is the head of only seventeen (14) ---------- a total of fifty-three member states, is confined
(15) ==nmmnnn-n head of the Commonwealth. Given that its member states have little in common
apart from a historical tie to the UK, it has rarely been able to influence world affairs, except
perhaps for its leadership on the international imposition of sanctions upon South Africa.

11- 1)s0 2) which 3) 50 that 4) in which
12- 1) binding together 2) bound together by
3) together having bound 4} having bound together
13- 1) to remain 2) remaining 3) for remaining 4) to be remained
14- 1) by 2) out of 3) within 4) outside

15- 1) for 2) to who is 3) to that of 4) that she is
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| Part C. Reading Comprehension

Directions: Read the following three passages and choose the best choice (1), (2), (3) or (4).
Then mark it on your answer sheet.,

PASSAGE 1:

Social research (and social science in general) is based on logic and empirical observations.
Charles C. Ragin writes in his Constructing Social Research book that "Social research
involved the interaction between ideas and evidence. Ideas help social researchers make
sense of evidence, and researchers use evidence to extend, revise and test ideas". Social
research thus attempts to create or validate theories through data collection and data analysis,
and its goal is exploration, description and explanation. It should never lead or be mistaken
with philosophy or belief. Social research aims to find social patterns of regularity in social
life and usually deals with social groups (aggregates of individuals), not individuals
themselves (although science of psychology is an exception here). Research can also be
divided into pure research and applied research. Pure research has no application on real life,
whereas applied research attempts to influence the real world.

16- What would the possible topic be for the above passage?
1) Influencing the Real World ~ 2) Aggregates of Individuals
3) Constructing Social Theories 4) Foundations of Social Research
17- According to the passage, social research and social science in general -—----——--.
1) deals with the reciprocal action of theories and observed data
2) is based upon the existence of balance between 1deas and logic
3) is based upon the reciprocal action of logic and philosophical ideas
4) deals with the existence of balance between empirical observations and evidence
18- What is the objective of social research according to the author?
1} Exploration, description and explanation
2) Making sense of evidence and logic ideas
3) Extending, revising and testing social conceptions
4) Creation of theories through data collection and data analysis
19- It is mentioned in the passage that social research intends to -=—---=-- .
1) guide individuals themselves 2) deal with social causes of revolution
3) discover rule and order in social groups  4) direct philosophy or belief of individuals
20- The author finally concludes that applied research ------——--- .
1) has no relevance to real life 2) solely affects real individuals
3) has no application on real life 4) merely determines the real world
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PASSAGE 2.

There are no laws in social science that parallel the laws in the natural science. A law in
social science is a universal generalization about a class of facts. A fact is an observed
phenomenon, and observation means it has been seen, heard or otherwise experienced by
researcher. A theory is a systematic explanation for the observations that relate to a particular
aspect of social life. Concepts are the basic building blocks of theory and are abstract
elements representing classes of phenomena. Axioms or postulates are basic assertions
assumed to be true. Propositions are conclusions drawn about the relationships among
concepts, based on analysis of axioms. Hypotheses are specified expectations about empirical
reality which are derived from propositions. Social research involves testing these hypotheses
to see if they are true.

Which of the following is true about social laws?

1) The universal generalizations match the laws in the natural sciences.
2) The laws in social sciences are the same laws in the natural sciences.
3) The universal generalizations contrast the laws in the natural sciences.
4) The laws in social sciences are different from laws in the natural sciences.
According to the passage, a fact is a(n) —-------- !

1) heard news 2) seen event 3) expenienced pains  4) confirmed theories
We can infer from the passage that a theory consists of -------—,

1) basic building blocks as abstract factors

2) concepts that embody groups of events

3) systematic explanation relating to social life

4) abstract elements representing classes of phenomena

What is the difference between axioms and propositions?

1) Propositions are assumed to be relations among concepts.

2) Axioms are true conclusions about social phenomena.

3) Axioms are ideas presumed by a theorist to be true.

4) Propositions are fundamental postulated statements.

The author finally regards the role of social research as —-———,

1) determining the relationship among concepts

2) deriving empirical evidence from propositions

3) specifying expectations about empirical reality

4) seeing if hypotheses correspond to empirical data
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PASSAGE 3:

Social research involves creating a theory, operationalization and observation. Social theories
are written in the language of vanables, in other words, theones describe logical relationships
between variables. Variables are logical sets of attributes, with people being the 'carriers' of
those variables (for example, gender can be a variable with two attributes: male and female).
Variables are also divided into independent variables (data) that influences the dependent
variables (which scientists are trying to explain). For example, in a study of how different
dosages of a drug are related to the severity of symptoms of a disease, a measure of the
severity of the symptoms of the disease is a dependent variable and the administration of the
drug in specified doses is the independent variable. Researchers will compare the different
values of the dependent variable (severity of the symptoms) and attempt to draw conclusions.

What does the author mean by “observation™ in the first line?

1) involving measurement with instruments

2) recognizing and noting a fact or occurrence

3} measurement of variables with adequate devices

4) collection of data to test hypothesized relationship

Which of the following is NOT mentioned in the passage about “variables”?
1) They are the vocabulary of social theories.

2) Logical sets of attributes are described by variables,

3} They designate the logical relationships between attributes.

4) Logical relationships between them are described by theories.

According to the passage, data --——-—--- the dependent variables which scientists are trying
to explain,

1) determine 2) pressurize 3) prejudice 4) subomn

What does the word “severity” in line 7 refer to?

1) simplicity 2) seripusness 3) plainness 4) difficulty

In the example given by the author, researchers compare the ----e-m-- of severity of the
symptoms and then try to draw conclusions.

1) dependent variables 2) distinctive values

3) independent variables 4) related values
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